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Guidelines for the Preparation of Question Paper for

HIGHER SECONDARY EDUCATION - 2014

Introduction

Term evaluation is an important aspect of Continuous and Comprehensive Evaluation (CCE).
It covers the assessment of learning aspect of the CCE. The Kerala School Curriculum 2013
postulated that the examination system should be recast so as to ensure a method of
assessment that is a valid, reliable and objective measure of student development and a
powerful instrument for improving the learning process. The outcome focused written tests
are being used as tools for terminal assessment. Practical assessment is also considered for
some subjects. The syllabus, scheme of work, textual materials, teacher texts and learning
experiences may be considered while developing tools for term evaluation.

In order to make the examination system effective and objective, quality of the question
paper needs to be ensured. Questions of different types considering various learning
outcomes, thinking skills and of varying difficulty levels are to be included in the question
paper. This makes question paper setting a significant task that has to be undertaken with
the support of proper guidelines.

The guidelines for the preparation of the question paper have been divided into four heads
for its effective implementation and monitoring. The areas are i) preparatory stage, ii) nature
of questions, iii) question paper setting and iv) structure of the question paper.

I. Preparatory stage

Before starting the process of question paper setting, the question paper setter should
ensure that she/he has:

o Familiarised the current syllabus and textbook of the concerned subject.
« secured the list of Los (Learning Outcomes) relating to the subject.
o acquired the list of thinking skills applicable to the subject (See appendix).
o prepared a pool of questions from each unit of the subject.
« verified the scheme of work and weight of score for each unit/lesson.
« gone through guidelines for the preparation of question paper for higher
secondary education - 2014.
Il Nature of questions

Questions selected from the pool to be included in the question paper should reflect the
following features:

o stem of the question text should be relevant to the question posed.

« multiple choice questions should be provided with four competitive distracters.

« the possibilities of higher order thinking skills should be considered while setting
MCQs

« time allotted for each question should be justified according to the thinking skills
involved.

o the scope and length of the answer should be clearly indicated.



o questions should be prepared by considering the learning level of the learner.
« the question should focus on the learning outcomes.

« a wide range of thinking skills and learning outcomes from each unit/lesson
should be considered.

o varied forms of questions should be covered.

o there should be a balance between the time allotted and the level of question.
« question should be very specific and free from ambiguity.

« question text should not be too lengthy and complicated.

e questions can be prepared based on a single or a cluster of learning outcomes
which is scattered over one particular unit or units.

o cluster of learning outcomes from different units can be considered only for graded
questions (questions with sub-divisions).

» the possibilities of graded questions reflecting different thinking skills can be explored.

o while preparing questions for language papers importance should be given to the
language elements, language skills, discourses, textual content and elements of
creativity.

o while preparing questions for subjects other than languages, importance should be
given to content, concepts and skills.

+ questions should cater the needs of differently abled learners and CWSEN
(Children With Special Education Needs)

o+ the questions should contain varied forms such as objective type with specific
focus to multiple choice test items and descriptive types (short answer and essay

types).

o directions regarding the minimum word limit for essay type questions should be
given.

« sufficient hints can be provided for essay type questions, if necessary.

« maximum usage of supporting items like pictures, graphs, tables and collage may
be used while preparing questions.

« questions which hurt the feelings of caste, religion, gender, etc. must be completely
avoided.
Ill. Question paper setting
During the process of question paper setting the question setter should:

o prepare a design of the question paper with due weight to content, learning
outcomes, different forms of questions and thinking skills.

e prepare a blue print based on the design.

o prepare scoring key indicating value points and question based analysis along
with the question paper.

o while preparing scoring key, thinking skills should also be integrated.

o 60% weight should be given to thinking skills for conceptual attainment and 40% to
thinking skills for conceptual generation.



15 to 20% weight of total scores must be given to objective type questions and up
to 20% weight of total score must be given to essay type questions.

the highest score that can be given to a question in the question paper is limited to
10% of the total score.

while fixing the time for answering a question, time for reading, comprehending
and writing the answer must be considered.

The total time limit of the question paper - two hours for 60 scores and 2.30 hours
for 80 scores question papers with an extra cool-off time of 15 minutes.

IV. Structure of the question paper

The question paper should reflect the following features in general:

general instructions for the question paper should be given on the top.
instructions for specific questions can be given before the question text.

monotony of set patterns (objective or descriptive) should be avoided.

questions should be prepared in bilingual form.

there should not be any mismatch between the bilingual versions of the questions.
choice can be given for questions up to 20% of the total score.

while giving choice, alternative questions should be from the same unit with the
same level of thinking skills.

in the case of languages, language of the questions and answers should be in the
particular language concerned. Necessary directions in this regard must be given
in the question paper.

THINKING SKILLS
Category/ Alternative terms
processes
1. Remember Retrieve relevant knowledge from long-term memory
1.1. Recognising identifying- (e.g. Recognize the dates of important events in Indian
history)
1.2. Recalling retrieving - (e.g. Recall the major exports of India)

2. Understand Construct meaning from instructional messages, including oral,

written and graphic information

2.1. Interpreting clarifying, paraphrasing, representing, translating (e.g. Write an

equation [using B for the number of boys and G for the number of
girls] that corresponds to the statement “There are twice as many boys
as girls in this class’)

2.2. Exemplifying illustrating, instantiating (e.g. Locate an inorganic compound and

tell why it is inorganic)

2.3. Classifying categorizing, subsuming (e.g. Classify the given transactions to be

recorded in Purchase returns book and Sales returns book)

2.4. Summarising abstracting, generalizing (e.g. Students are asked to read an untitled

passage and then write an appropriate title.)



2.5. Inferring concluding, extrapolating, interpolating, predicting (e.g. a student
may be given three physics problems, two involving one principle
and another involving a different principle and ask to state the
underlying principle or concept the student is using to arrive at the
correct answer.)

2.6. Comparing contrasting, mapping, matching (e.g. Compare historical events to
contemporary situations)

2.7. Explaining constructing models (e.g. the students who have studied Ohm’s law
are asked to explain what happens to the rate of the current when a
second battery is added to a circuit.)

3. Apply Carry out or use a procedure in a given situation

3.1. Executing Carrying out (e.g. Prepare Trading and Profit and loss Account from
the Trial Balance given and find out the net profit.)

3.2. Implementing  using (e.g. Select the appropriate given situation where Newton’s
Second Law can be used)

4. Analyse Break material into its constituent parts and determines how the
parts relate to one another and to an overall structure or purpose

4.1. Differentiating  discriminating, distinguishing, focusing, selecting (e.g. distinguish
between relevant and irrelevant numbers in a mathematical word
problem)

4.2. Organising finding coherence, integrating, outlining, parsing, structuring (e.g.
the students are asked to write graphic hierarchies best corresponds
to the organisation of a presented passage.)

4.3. Attributing deconstructing (e.g. determine the point of view of the author of an
essay in terms of his or her ethical perspective)

5. Evaluate Make judgements based on criteria and standards

5.1. Checking coordinating, detecting, monitoring, testing (e.g. after reading a report

of a chemistry experiment, determine whether or not the conclusion
follows from the results of the experiment.)

5.2. Critiquing judging (e.g. Judge which of the two methods is the best way to solve
a given problem)

6. Create Put elements together to form a coherent or functional whole;
reorganize elements into a new pattern or structure

6.1. Generating hypothesizing (e.g. suggest as many ways as you can to assure that

everyone has adequate medical insurance)

6.2. Planning designing (e.g. design social intervention programmes for
overcoming excessive consumerism)

6.3. Producing constructing (e.g. the students are asked to write a short story based
on some specifications)

Considering the intellectual level of learners, while setting the question paper;

1. 60% weight may be given to thinking skills used for factual and conceptual
attainment and



2. 40% weight may be given to thinking skills for conceptual generation (higher thinking
skills has to be ensured in this category). Thinking skills for conceptual generation
means thinking skills needed for elaborating the concepts.

Refer the range of thinking skills given above. We can include the thinking skills no.1.1
to 3.2 (11 processes) under first category and 4.1 to 6.3 (8 processes) under second

category.

Guide lines for setting guestion paper - Statistics

1. Multi level questions should be promoted.

2. The weight of objective questions should be between 15%-20% of Total score and it
should carry one score

3. The weight of essay question should be between 15%-20% of Total score and it should
carry four or five scores

4. The short answer question should carry two to four scores.

5. The content/problems given as box item in the SCERT text book should not be
used for term end evaluation.

6. Graph, diagrams and pictures should be included in the questions wherever
necessary.

7. Specific hints should be included in the questions if needed.
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STATISTICS

Maximum : 60 Scores
Time: 2 hrs

Cool off time : 15 Minutes

@:neral Instructions to candidates: \

1.

Nald®MMIACF U2aB U3

There isa 'Cool off time' of 15 minutes in addition to the writing time of 2 hrs.

Youare neitherallowed to write your answers nor to discuss anything with others during the 'cool off time'.
Usethe 'cool off time' to get familiar with questions and to plan your answers.

Read the questions carefully before answering

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the same question itself.
Calculations, figures and graphs should be shown inthe answer sheet itself.

Malayalam version of the questions is also provided.

Give equations wherever necessary

Electronics devices except nonprogrammable calculators are not allowed in the Examination Hall.

Use of statistical and mathematical tables are permitted.

M33latis muaOEONM alosn 15 AlMg ‘@)U 89a0 §8So 9MEOVITIEN0. D TLRVED G2I0BYEBBUTHEE
DOMOO af)$;MOCMO, AYBRE)NOQ] @RV AMIAo MSTMICMI «Ioslel.

DOMOEBUE af)Py@yM@IN) MM 3a108y63Bu3 (U0RLANBYo AW lBeEMo.

af)2I0 GaldB6RUIEN)0 DOMAC of)P}Msmo.

80] GalN3IMMNIG DOMOORLIMIN HHMEVHETNSIOM SN0 DalEal0B|@RRBl0 @RED GaldByMM
glod WM ®HAN OO VHETMSIGBNETRDOE.

MBS H)FENDHUD, 2ll@6@BUS, (NN} W3, af)ITIA DOMOGaIOIBEMHMN 2EMEIWIGIBHEMo.
Gal0B6BRU3 DRINIBOWIE)e MGIeIwIg)ens.
@RQINIMBR TLOLIG) TUAMUOGLERUE OEHISIHNEMo

GeRNINHUB HaIQIMOIBHITW HIGIHNICRIQO)HUS BPOHWBH B0} MLISESIMIE: DaldhHO6Malo
al016:1192008108 DaleWIUllen0m@ loslel.

MROgIlen@d, 20EMR0GIENE3 SIS UW DaICWOTHNOAANDIET). j

a) A media person visited a flood 1a) 80y 20wy LOJOJ@M&C? Gscogu oale2

affected area and collected data 224069 EIIWID) (2620000 EMEIS Golow]

. ) ailaleeuososmo MSOM. a6(Ia0] WwoQo

directly. Name the method of primary swaioation «ge aodpaoe malles

data collection used here. M Da16@oRlon]0iod B )

b) List any other 4 methods of primary b)  99uIa0l Wogo GUALIEOTAT DIGDO

data collection. (2) S9N 2EQOMELILN0 4 2OBWEBBUD af)®)

NS (2)

Proper care should be taken while using 2. “0EAUAHEMONI D} EBBUIHHID] OTVSES MOl

secondary data in an investigation". WoQ QaleWOWISNEMINUE QAUSOHBEWHO

Write any two arguments to establish (WoaLIBHOMRMYENE". DD (TGO 20g]]
this statement. ) S)MOIMOW] 06N QUOBEBBUS ) L)) b>.

(2)




3. a) Choose the correct answer.
The National Statistics Day is

3 a) OlYIY DOMOO 6DO 66N S) G .
e3uwl@ quoglayleal lmaow] @ alal

celebrated on: 9N
i) July 29 ii) June 30 i) =000l 29 i) =yem 30
iii) June 29 iv) August 30 (1) iii) =erm 29 iv) @rogy 30 (1)
b) Match the following () snil. G2ld)onlsS] Galdae)d (2)
[ A B )
1) CSO 1) Nodal agency of the state.
2) NSSO 2) Compilation of national accounts.
3) ISI 3) Conducting socio-economic survey.
4) Economics and Statistics Department, | 4) Publishing Journal SANKHYA
{ Kerala

J

4. The number of successful Mars
expeditions by various countries are
given below.

4. alollw eomyEBRU ANROV@GO20V] H21D®
9210QJ0 (Va0alDLGAHEN BDDYEEBIOS
of)6No 2 QIS OEHISIHNAM,.

Country No of successful
expeditions

USA 15

USSR 2

European Union

India

Name the type of classification used in this
table. M

5. Draw the skeleton of atable to represent
the following information.

Faculty : Arts, Commerce, Science
Class
Sex : Male, Female

: Graduation, Post graduation

@

6. Choose the correct answer.
Which of the followingis NOT an axiom
of probability?
i) PA)<1ii) PS)=1
iii) P(A or A))=P(A) +P(A), fortwo
mutually exclusive events A and
A

e

iv) P(A)=0 M

3@ ®o AUAR1HEEM2ETH MAilOs Daleow]
2fl@loey o) (1)

5. aljQleS GaldHe)aM QilaloBUd CoIaa]S)Om)
M@IMOAUUD20W B0} alSlGW)OS 215695

UV B>,
HOAURENOMId : HEID-TVOAsIM o, AUIEMIR Y0,
Gaeel OB (@ o.
Pl : enil@yBo, enilo)3omamoo
ellonGero : @e, §alerd (4)

6. (OOIWOIW DOMBO HDVEETNS)HN >

21JQ10S 9 ISENMAUTIGE Blalosnusnileilgl
W)OS B0} @YHTVIWo GREIITND B ?

i) PA)<1 i) PS) =1

iii) @eng ay)apiell ag)dabgyaulal maiad)
s»udee P(A or A) =P(A) +P(A)

iv) P(A)=0 (1)



7. The pupils in a class were asked, how
many siblings (brothers and sisters, they
had? Their answers are shown in the
table.

[No of siblings 0| 112134 ]

lNoofpupils 41121 83 3J

If a child is chosen at random, find the
probability that,

a) He/she has 3 siblings.

b) There are less than 3 siblings in his/her
family.
@

Answer any one question from § and 9.

8 Find the probabilities of getting
a) The face 4 when a die is thrown

b) A total of 8 when two dice are
thrown.
)
OR

9 In a group of 20 adults, 4 out of the 7
women and 2 out of the 13 men wear
glasses. What is the probability that a
person chosen at random from the group

is a woman or some one who wears
glasses? )

10. Choose the correct answer.

In a series of observations AM =32 and

Median = 30. Then mode is:
a) 25 b) 26 ¢ 35 d) 36
)

11. a) Choose the correct answer.

The arithmetic mean of 10,12,x and 15 is 13.
What is the arithmetic mean of 12,14,x+2
and 177?

i 13 i) 14
iii) 15 iv) 16 (1)

7. 80) §oavleel 351e 805 @GRAIO}OS
MUEANIBABBSBIOS af)sfPo alOWNINM @RAI
(0L6)2]S;AM}. BPAIR}OS AMaISI®HUE ®IOY alg]
»HONG3 Galdomlolesyam,.

[(rvceaooemmggs)s apapol0 [T | 2|3 4]
3

la%ggmgg;g@s oo 4 1121813

HoMloel 80) 5100 WIB alle:200] 6®®
S} NITB, MINY alOWIAN Elaloenieilgl
U HOEM) .
a) @PAIN /@RAIMES 3 TVGAO0IBEEBUT DENRD
ol o6 dn.
b) @ralem/@paizyes MEa0IB0EBS)6S
a)ERo 3 ~@3 HYOUIW B>, (2)
(8,9 6210636388103 B00aMOMIMN NI W0 VOO
DY) D)
8. MI9PaloWIMMAl AIElemmM@IMSBs  TVIWY
@EHUB 08N s

a) 80) POW aIFWENUOUB 4 gD QDo

eIglee)am1a
b) 2 90Ws b ag)dloyemuowd @)d> 8 RIlE)
analad (3)
@6 Llaslad

9. 80} Wllad 20 O)@I3M EBWEHIE D6,
@@lenss 7 A 1agled 4 Gald &»ems Wl
2J0IE26M. 13 alj@}aHMOGIGE 2 Gald)o NS
waelaflgyes. (a1 o® (W)afl@d mlanyo
80008 WOBLallH:200] &M@ OIS CMOT3
@O 60} @GO MRS Wola WIEBI
@RYBHIMBSB Glatosnienilellgl &oemyd.  (3)

10.  CIWIV DOMOO HTIVEEIOIN S B>
80) )50 Qileldb310s @owioe =32, alaslwad
= 30 @QOE eaWlemg aile:

a) 25 b) 26
c) 35 d 36 (1)

1. o)) (0ClQOIW DOMVO HDDEENS)ER) B>
10,12, x, 15 agamlaiw)es mowlo 13 @003
12,14, x+2,17 agyavlai@es aowio af)lm?

i) 13 i) 14
i) 15 iv) 16 (1)



b)

The price (per kilogram) and the
consumption (in kilograms) of 4
commodities by a family for a month
is given below. Find the weighted
arithmetic mean of the prices of the

enil) 80} &)SyoNlo BO) MITVo olBWIUle 4

2ela MR8 s allel)o (&sleeld 1m)) @pal
WeS alerowalo (&lealowoalad)
21)QI9S G2l389aN;}. OElalMeEBRs)eS ailel
HB0S HAUVNIQAL BOWLe BHEMENIEN)d»

commodities. (2) (2)
Commodity A B C D
Price (per Kg) 15 6 30 110
Consumption (in Kg) | 4 10 5 1
12. The average weight of 40 girls and 20 2. 80) GOTVIOEl 40 HolaMd)5le:8)0SWyo 20
boys in a class is 50 kg. What is the @YEM»)S1HB)OSW]0 »)S] Y0IUDE] OO 50
average weight of girls, if the average SIGEINN00 @RYSM. BRYEMSIBHROS PEOUDE]
weight of boys is 54 kg. @O0 54 BIGEINN00 @YWOTI BaleMd:)Sld:
3 8)60S VDOIUDA] BOMO OS] M. (3)
13 The daily wages of 140 employees in a 13, 80) GOuTldleel 140 emoslengleaies clal
company are given in the following TUEAUmMo al5leo] @oae Muailaflajlcl
table. H6)aM).
[ Wages (in Rs) 350-400 | 400-450 | 450-500 |500-550 [ 550-600 [ 600-650 ]
No of employees 8 28 32 38 19 15 J
Find the median wage. ®) 213 GAIDMo HIEM)d: (5)

14.

15

C) never zero

d) lies between 0 and 1

Choose the correct answer.

The standard deviation of a set of
observations is:

a) always positive

b) never negative

@

a) Which among the following only
depends on extreme values?

i) SD ii) MD

iii) QD iv) Range

@

14.

15.

VIV DO HTIOBETND) S) B} B>

80} ®)50 ollelegies guomewdal avlail
CWaHe M aller:
a) agelnYea oo Galoavlglaoen.
b) sdldssene emnglal @rel
€) scldeselo a)Rio @Al
d) o mypo 1 Mo wmslenem aeyMmo.
(1)
a) ©96¢ aloWMAIVIT3 e @RQOM2BS
allelses 20(@o @RWIWEN}MED©)?

iy SD i)y MD

m) QD v oWl



b) Find the quartile deviation of the

b) @00y @amildlenymm cawqw)es &odeegod

following data. 3 WIANE@aUM &:06TD)db. 3
[Values 10 11 12 13 14 15 16 17 ]
Frequency 8 10 20 25 21 16 4 3

Answer any one question from 16 and 17.

16 The weekly sales of two vendors are
given below. Examine the efficiency of
the venders. (Hint: find CV)

(16, 17 6210336388103 BHOANOWIA) Mo DOH

DY) D)

6. 62 QllElaINeN00)eS BoP2ITloEl Qllelaim
MIEIDEo 21)QIBS §E®IS)HNAN). @RAIYSS
HOVYHHID alBIGUOIUSI B b,

®) (vyatm: mil.ail. @oem)ds) (5)
Vender A : 15 22 13 18 20
(in thousands of Rs)
Vender B : 10 30 24 22 15
(in thousands of Rs) |
OR @R L1D;103

17. Following data, shows the ages and
systolic blood pressure of § persons.
Calculate the covariance.

7. 8 GalO)®s al@que duleqyoeild: os@av
m@dgalo qu)ailafleeyam 80 WIQ @9y
BIS}HNAN). BHOGAUBIVMWAV 06 b,

Person 1 2 3 4 5 6 7 8
Age (in years): 20 28 30 35 38 40 42 45
Systolic blood
Pressure 115 120 122 125 130 132 120 125
(inmm/Hg)

©) (5)

18 a) Each member of the population has
equal probability of being selected,
this sampling is called ---— — — — —

@

b) Suggest any three situations when
sampling is more suitable than
census. 3

18. @) GaldqGRIHMIOR! B0G0 @ROVOIM)o
Tomilgled 9ulaaq]s;M@Ia) @YRILTLOWY
®©OM)88®. MOMoo aqVoMilglow]
D10 N agym ailgles)am). (1)

b) eacvadmuad olmlewsendud muoosilod’
1oy @RMEWIRYAOW @AV TVOa0210Y
BBU MNAGRUTIEe) . (3)



Answer any one question from 19 and 20.

19. In a bolt factory, machines A, B and C
produces 25%, 35% and 40% of the total
output respectively. Of their outputs,
5%,4% and 2% respectively are defective
bolts. If a bolt is chosen at random, what
is the probability that it is defective?

€

OR

20. The probability that a patient is allergic
to Penicillin is 0.20. Suppose this drug
is administered to three patients. Find
the probability that

(i) all three of them are allergic to it
(ii) at least one of them is not allergic to
it “)
21. Choose the correct answer.

a) For a symmetric distribution:
i)  Q,- Median = Median - Q,

i) Q,- Median = Q, - Median
iii) Q, + Median = Median + Q,
iv) Median - Q, = Median - Q, {1)

b) The first four central moments of a
distribution are 0, 9.2, -3.6, and 122.

i) Calculate the coefficient of skewness ..

ii) Calculate the coefficient of kurtosis j3,.

(4)

22 a) The following table and diagram
represent the sales of different models of

cars in a showroom of a car
manufacturing company for the last
month. Complete the table with the
help of the diagram. (2)

19, 20 621033638103 3HOMOWIM B G0 DO

QHDPI M.

19. &0) 6UUdg WIdanoem andd:solwlesl 3
wmeaszow A, B, C agarlal @ino@oo
@O DEINIOBMOMIONG 25%, 35%, 40% afldo
GENI0UE5) B U DelnloGlalen)am). @pal 9elald
Glafloeyam GenIoud S SI08 WD @0 5% 4%,
2% DEIaIMMEBUE G’ S)al0S}dUd O8I0,
DD 0N S0l OEIal0Glafla] GNIOUES)HS1G3
8606[No WIRYAIH2W 6®m@EEMS)TMOT
@D GBS} IIS)BRMOBHIMBB TVOWID af)(®
WoeMm? (4)

@aa%mﬂmﬁ

20. 80) 6eoUlldes Salmlmileilm ereidalw)aszo
HOOMBS TLOWLD 0.20 @RYYTN). DD AT
3 BOIWBUBHE) M@IEHaM).
(1) 2)mM)ealden)o @PRIGZIW;MRIHIM)88
TLOWLID )oY ¢
(ii) soodlosemleno @ReIdRIWNRIHIMIC]
BHOMBB TVOWID® )Y ? (4)
21 (UOOlWOW DOMDO HDVOETVTNSER) )

a) 80} Mleasls:; aslad(Slenieuad GalnRo:

1) Q,- alalomd = 2luwloed - Q,
(i) Q,- 2lwlom = Q, - aluwlwm
() Q, + elwlom = 2luwlom + Q
(1v) 2laslom- Q, = 2luflod - Q,

(1)

b) s0; alaiisleniyeuend @ysieom Mmoel

OISO ORA0ORMBHUB 0, 9.2, - 3.6, 122 af)aT]

QU@O6M.

1) aceepeomquleg e:odlanlanyag B
BTN

(i) odegomlavlem csmowlanlanyagd P,

BHOET b, (4)

22. @) 80} 03 MIBEVOEM HAUTIWOS GO

21o3 @$leom @20Tvo QflEialM MSOWIW &Ho0)

S80S QllaaBgos 2AIeS Galdeeyan

alslealene WWOmIeNe £830). algld

Wleel ailgiealo® BINEBUE WWNWONIe

MAOIVONIGF )OO B . (2)



([ Model Sales Angle )
A - -
A
B - — = 140
C 10 - —- C B
Total 90 360
b) Thetable below shows the daily wages b) 8] anossololeel 100 omolensleg)es
of 100 workers in a factory. Draw a glalaqv gal®Mo ®00Y al5ld o]
histogram. “) G2l30wilolen)an). 80} aoleaRO(o0 QD
D).
@)
Daily wages
(in Rs) 100 - 150|150 - 200{200 - 250[250 - 300|300 - 350 (350 - 400|400 - 450|450 - 500
No of workers| 6 10 12 15 20 15 12 10




Scoring Key

Class: IX Subject: Statistics
Qn No Answer key/Value points Score Total
1a Direct observation 1 1
b Any four of the following methods
e Direct personal investigation
¢ Indirect oral investigation
e Telephone interview
e Mailed questionnaire
e Schedules
e Focusgroup discussion % X4 2
Each carry % marks
2 e The person who collected the data and the purpose for which they | 1 2
are collected.
e Care should be taken on the time at which the data was collected. | 1
{Any other relevant points can be given 1 score each.)
3a iii) June 29 1 1
b A B
CSO Compilation of national accounts
NSSO Conducting socio-economic survey.
IS Publishing SANKHYA
Economics and Nodal agency of the state % X4 2
Statistics department,
Kerala
4 Geographical classification 1 1
5 Title of the table, captions, stubs 1 4
Body of the table 3
6 i) P(A)<1 1
7a P( he/she has 3 brothers and sisters) = 3/30 1 2
b P(there are less than 3 siblings in his/her family) = 24/30 1
8 a) 1/6 1
b) The outcomes favourable to a sum of 8 are {2, 6), (3, 5), (4,4),
(5,3),{6,2) 1 3
P(Sum 8) =5/36 1
OR
9 W —The chosen person is woman
G — The chosen person wears glasses
P(W)=7/20, P{G) = 6/20 and P{W and G) =4/20 1% 3
P(W or G) = P(W) + P(G) - P(W and G) 1
=7/20+6/20-4/20=9/20 ¥
10 b) 26 1 1
Qn No Answer key/Value points Score Total




11a iii) 15 1
b i —Zwx 1
Weighted AM = Sw
_ 15X446X10+30X5+110X1
= 4410+5+1 %
=19 %
12 X =54,x,=?,Xx=50,n, =20,n, =40 ¥
= Xt mi 1
nm+ny
_ %
_ 20X54+40X ¥
50=—_—2
I
3000 = 1080 +40Xx,
X, =48 %
13 N_ 1
Median =1 + &ka
Class Frequency Cumulative frequency
350 - 400 8 8
400 - 450 28 36
450 -500 32 58
500 - 550 38 96
550 - 600 19 115 2
600 — 650 15 130
Total 130
N/2 = 65, Median class = 500 — 550
f=500,f=38,c=50,m=58 1
Median =500 + —(65_3588)50 %
Pz
= 509.21 ’
14 b) never negative 1
15a iv) Range 1
b Value Frequency Cumulative frequency
10 8 8
11 10 18
12 20 38
13 25 63
14 21 84 1
15 16 100
16 4 104
17 3 107




Qn No Answer key/Value points Score Total
(N+1)/4=27 Q1=12 % 3
3(N+1)/4=81 Q3=14 %

2
=1 %
16 Vender A 5
Z x = 88
%
Z x? = 1602
%
F= 2% _ 176
n
_ fZ X2 %
SD = e (%)
1602
= [———(17.6)?
5 %
=3.26
SD Pz
CV = >=X100 = 1852 :
Vender B
Z x =101
%
Z x%=2285
. Xx
X = ? =20.2 A
SD = Ff — (%)? =6.997 1
SD
CV = —X100 = 34.64 %
X 2
Vender A is efficient than vender B ¥
OR
17 Age(x) Blood Pressure (y) XY
20 115 2300
28 120 3360
30 122 3660
35 125 4375
38 130 4940 2
40 132 5280
42 120 5040
45 125 5625
278 989 34580
Qn No Answer key/Value points Score Total




1 5
Covariance = % - Xy
%= 2% 23475 &
n
y = Z_ny =123.625 %
34580 1
Covariance = —5— — 34.75 x 123.625 %
=26.53 "
18 a Simple random sampling 1 1
b Any 3 situations. Each carries 1 mark 1x3 3
19 25 35 40 4
5 4 2
P(D/A)—m, P(D/B)—m, P(D/C)—m
P(D) = P(A)P(D/A)+ P(B)P(D/B)+ P(CYP(D/C) 1
_ 5,25, 4 35 2 40
~ 1007100 T 100 7100 1 100 T 100 1
=0.0345 .
%
A, B, C denotes patients 1 4
20 P(A)=0.20,P(B)=0.20,P(C) =0.20
i) P(All 3 of them are allergic) = P(ABC) 1
= P{A) x P(B) x P(C) %
= 0.008 %
ii) P(Atleastone ofthemis notallergic) = 1—P(All are allergic) ¥
=1-0.008=0.992 %
2l1a i) Qz — Median = Median — Q 1 1
b : _ a2 1
|) 181 - i3 1 4
=1.0166
.. _ 4
“) 182 T2 1
=144 1
Qn No Answer key/Value points Score Total
22a Model Sales Angle x4 2
A 45 180
B 35 140
C 10 40
Total 90 360
¥ mark for each value
b Appropriate scaling in X and Y axes 1 4
3

Histogram
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Part - 111
STATISTICS

Maximum : 60 Scores

Time: 2 hrs

Cool off time : 15 Minutes

@neral Instructions to candidates:

Nald®MMIACF U2aB U3

There isa 'Cool off time' of 15 minutes in addition to the writing time of 2 hrs.

Youare neitherallowed to write your answers nor to discuss anything with others during the 'cool off time'.
Usethe 'cool off time' to get familiar with questions and to plan your answers.

Read the questions carefully before answering

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the same question itself.
Calculations, figures and graphs should be shown inthe answer sheet itself.

Malayalam version of the questions is also provided.

Give equations wherever necessary

Electronics devices except non programmable calculators are not allowed in the Examination Hall.

Use of statistical and mathematical tables are permitted.

M33latis muaOEONM alosn 15 AlMg ‘@)U 89a0 §8So 9MEOVITIEN0. D TLRVED G2I0BYEBBUTHEE
DOMOO af)$;MOCMO, AYBRE)NOQ] @RV AMIAo MSTMICMI «Ioslel.

DOMOEBUE af)Py@yM@IN) MM 3a108y63Bu3 (U0RLANBYo AW lBeEMo.
af)2I0 GaldB6RUIEN)0 DOMAC of)P}Msmo.

80] GalN3IMMNIG DOMOORLIMIN HHMEVHETNSIOM SN0 DalEal0B|@RRBl0 @RED GaldByMM
glod WM ®HAN OO VHETMSIGBNETRDOE.

MBS H)FENDHUD, 2ll@6@BUS, (NN} W3, af)ITIA DOMOGaIOIBEMHMN 2EMEIWIGIBHEMo.
Gal0B6BRU3 DRINIBOWIE)e MGIeIwIg)ens.
@RQINIMBR TLOLIG) TUAMUOGLERUE OEHISIHNEMo

GeRNINHUB HaIQIMOIBHITW HIGIHNICRIQO)HUS BPOHWBH B0} MLISESIMIE: DaldhHO6Malo
al016:1192008108 DaleWIUllen0m@ loslel.

MROgIlen@d, 20EMR0GIENE3 SIS UW DaICWOTHNOAANDIET).

1

@) The

discipline that applies 1
mathematical and statistical

(@) 2oomaoglsaad, quoglayleas olmleud
2a1GWOUTla] ABAHIOMMS, TMVOMUDIONE:

(b)

methods to assess risk in insurance
and finance sector is

i) Agricultural statistics
ii) Bio -statistics

iii) Actuarial science

coaleleSloel @yalalss (Tisk) mldspwol
)M 2lOMUDIELIQOED. ..........

i) Agricultural statistics

ii) Bio -statistics

iii) Actuarial science

iv) Econometrics 1 iv) Econometrics 1
Write short note on Ministry Of (b) 2lalgyal soad quoglayle:ms @radas
Statistice and  Programme 8lalo(00 Moqlleacdarem (MOSPI)
Implementation (MOSPT) 2 ®)0a] 80 elrens)0la] a@y®yd. 2




2

b)

(@)

(i)

(ii)

Following bar diagram represents
the number of boys and girls in
different streams.

2

@)

80) Megleel allallw allsowssBglenss
@Y6Mdh) 5l hB)OSW0  HaleMds)SldhS)
S0 aEROT TV)ailaflesmnamn eniod
ALONAEM 2}QIHS BATVISBSO).

s

Science

Commerce

Humanities

B Boys

u Girls

In which stream the number of boys
and girls are almost equal?

In which stream the total number of
students is maximum?

(iii) In which stream the numbers of

girls is almost double that of boys.

(iv) Inwhich stream the number of boys

is greater than that of girls? 2

The weight of 200 students are
distributed as shown below

(i)
(ii)

b)

(i)

(if)

b)

o@® QBOWOMILINEN @M S1H8)6SW)0

Bl SldHBIOSW0 RO ABHOEN}H0

) EIL20RD).

o@® allgowEmensm @red: Qil3yodmol

HUY B)S; DT DBBO)?
(iii) @ alleow@meloen ealeme) gl ud

@RI} Slh CBENUT aBO0ENH0 LOZIWO
wlg)88®?
(iv) ag® alleov omlensny @ emds) Sl ud

0lM ) SlHOBENUT &)S)OT 8B ? 2

200

ailz 0301836 OO @RAILED]

alSle @amlales;am;.

Weight in Kg. 30-40 | 40-50]50-60 | 60-70| 70-80

frequency 23 45 | 60 50 22
Draw an ogive 3 (i) &0) ogive QOGO 3
Compute the number of students (ii) ogive @ almyo 45 BlGEIWIGE &)0Al
having weight less than 45 kg by 2002)83 afl3yodmNl®8)6S af)sRo
using the ogive 1 &6M3) allSloe)& 1
The arithmetic meanand geometric | 3 a) e quoaly®:89s @GO Hagle alm)o
mean of two numbers are 13 and 12 6R1002(Sle 2IM)o VLN B0 13 Qo 12
respectively. Then the approximate Do @RVOT a003E206MIE: 1M ag)®?
value of Harmonic Mean is (i) 12.5 (i) 13.5 (i) 14 (v 11 1
() 12,5 Gi) 135 Gi) 14 Gv) 11 1 b) &0 VUMEoEM Mlnim B)Ee @)ely

A traveller covered a distance in
two phases having equal distances
with speeds 50 km/h and 20 km /h
respectively. Which measure is
suitable in this situation to find the

20@ @6 ceIg6EBRslene] TLERIGle)
(M} 80GE0 CLISOMIGEIW]o GAIND WLNO
(@0 50 ‘ﬁﬂ(geloﬂg(o’/marmmg(a 20 &IGLID
271qd/2emlem @ @rsm. ailes woowdl
GQUW® HIEMIM BRMICGWORYAIV O



average speed? Compute average
speed? 2
o Find Q, Q, and Q, from the
following frequency distribution.

aB® ? UDEIUDR] BGRUND &6MB) ailsles)
. 2
€) 2)019s ®AIGlenM @RAULCHIa|S]e
ol@d mlanye Q. Q,, Q, epavilal ens)

3 ad1S1e6) b 3
No. of match sticks 47 48 49 50 51 52
No of match boxes 4 22 40 37 32 15
4 a) The median of 6, 9, x, x+1, 12 and 4 a) 6,9, x,x+1,12,16 agyan alleinsyes alaw
16 is 10.5. then x= ................ (the @ 10.5 @RS, afEICS X = ........... (ailelsud
values are given in ascending @YBEO0MG2OWIcE ®aildleeyamn).) 1
order) 1 b) 80} &numlw)es eenwmWOeSIT) Dal1eWo
b) The life lengths of rubber belts used 01 2/lolen)an 063 §MICIQ) @ 8)6S
in the grinders of a company is @p©)deecdaIl0 21jaIns MTIS]WICles)
given below. Find the average life am}. 2aolmo (mode) ©alewouila] woEowodl
length by using mode? 5 SO >, 5
Life (in hours) 800- 850- 900- 950- 1000- 1050- 1100-
830 900 950 1000 1050 1100 1150
No. of belts 6 36 45 80 86 37 10
5 a) The temperature at Ootty on six | 5 a)so) aduomlee @pd aymym® slaim
different days in a year are B8l 90510led Goalee|s) oW
observed as given below 902001 ®AIGlee)am).
12, 25, 22, -2, 9, 28 12,25, 22, -2, 9, 28
Range of these values is: 2oatimoailond eowo (Range) =
@ 2 b)28 )30 d)32 1 @ 26 b)28 30 d)32 1
b) Two sets of observations have the b) oeré amymim eyg0 ofleleg)es coow
same coefficient of variation. The nOloi130f” B0l GAICIEDHT D)e1206m.
mean and standard deviation of BaNO2OCD S)SO06®R 2oWs0Ro (Mean)
first set is 40 and 8 respectively. qroddeandal anloflemaumio DI >0
Find the mean of the second set if 40 20 8 Po GVEM. CENBIOHED H)SOTOY
its standard deviation is 9. 3 Pyoadeandal avlaflensim 9 @oesmelod
6) The lower and upper quartiles of a 2oLk D 5
distribution are 31 and 47. Then the | ©) 0 A0RW9S Mlal, 9of 0Boo5ENM 31
quartile deviation is: 9o 47 Qo @M. a)anomd Quartile Deviation
agL»?
a) 78 b)40 o116 d)8 1 a) 78 b)40 )16 48 1
Answer any one question from 7 and 8. y
o (7, 8 Ga103)6EBS103 FOOANOWID MU G0 VOHO
7) Compute the mean'dematlon from PDOYD)®)
median to the following data. 5 7) 095 owosamiteom wogmes akukaial
dlmas 2108 lailewetd &) allsles)d.
Class 2040 40-60 60-80 80-100 | 100-120 ’
Frequency 3 5 32 15 10

3



8) Obtain the covariance of the following

OR

8) 2nalOs §®0s;EMBleM §esN GARICWLY
WoQWHS GHOGAIEIWMMS (covariance)

bivariate data. BT,
( X 1011 (13 9 |12 7 ] X w1113 9|12 7 ]
lY 1211 |10 14| 13 8JlY 1211 [10]14] 13 8J
5 5
9 a) For a frequency distribution p, <0 | 9 a) &0 wlgylenyeaeag w, <0 eywoo
then the distribution is ............. awland(Sleniy)aHa ... @yen.
(i) Symmetric (i) cosls
(i) Negatively skewed (i) emwqglal aleymas
(iii) Positively skewed (iii) Gatoaiglal ai@yymad
(iv) Cannot determined 1 (iv) mdsmoilenom auowlesoomo 1
b) A set of values are given b) &0) ®)50 alleie:ud eanldlesyam;.
3,4,7,9,9,10, 11,12, 16 3,4,7,9,9,10,11, 12,16
(i) Find p,and p, (i) n, o, 2o oMb,
(ii) Obtain the coefficient of skewness. (i) e®o@anlauil” 8000 a¥é)mav
4 ENe 0 ) 4
10 a) Adieistossed. Getting the number 10 a) 80) 06 ogOlWIAM). 2 )TN qVO6Y
2 is defined as event A. Getting a ailemym@ maig A agsm. 14 o
multiple of 4 is defined as event B. msmimo eiEleeym® oaiad’ B @gens.
consider the following statements @069 ®AVIBlEH}aM (Al ®OQAIM U
Statement I: IBIOEM1 06 .

A and B are equally likely
Statement I1:
A and B are mutually exclusive.

Based on this, choose the correct answer
from the following.

(i) IandII are correct.
(ii) I1is correct, Il is wrong.
(iii) Iis wrong II is correct.

1

b) Fortwo events A and B it is known
that P (A) =P (B), P (A and B) =0.1
and P (AorB)=0.7, find P (A). 2

(iv) I and II are wrong.

11) A box contains 3 red and 4 blue pens.
Another box contains 5 red and 2 blue
pens. If one pen is drawn from each
boxes. Find the probability that

(alSmoaimn I: A wjo B w)o Equally likely
@RyETD.
lmSmoaim II: A ©@jo B w)o Mutually
Exclusive @mysn).
HONMMTVA2] aljalns ®aTclenymaaiad
Wlam)o VIBIVIVWDT; HTVSETD S)EN) B>
(1)
(i) Twodl, II omg

Ioo II 9o vodlwosm.

(iii) Tomg I wal

1

b) A wjo Boyo o maiadyezosm. P(A)
= P(B) @0 P(A and B) = 0.1 @jo
P(A or B) = 0.7 90 empoomd P (A)

2

11) 80} ©a1SI0IG3 3 analapo 4 MIBIW0 Gald

(iv) I 9o Il @0 It

B0 .

&G DEME. 20QO0) OaIZIVIG 5 ahalajo 2
MIEI@)o GalMdB)o MNE. B0GO0 Halglald
mlamyo 8@) GalM Ao OO TN STV GI



12)

13)

14)

15)

a) Both are red

b) One is red and one is blue 3
OR
If A speaks truth in 80% and B speaks

truth in 90% of the cases. In what
percentage of cases are they likely to

contradict each other in stating the same
fact? 3

The number of Coconut Trees in a farm
is an example of

(i) Nominal data (ii) Ordinal data

(iii) Discrete data (iv)Continuous data
1

Draft a questionnaire to study the needs
of physical training and health
education at higher secondary level

4

a) The percentage frequency table
regarding the marks of 60 students
in a class is given. The percentage
frequency of the class 40-50 is 15.
Then the actual frequency is:

G 6 () 9 (i) 12 @Gv) 15 1

b) The heights (ininches) and weights
(in Kgs) of 20 students are given.
Prepare a bivariate frequency table
(Hint: Values given are height and
weight respectively. You may use class
intervals 55-60, 60-70, for height and
40-50,50-60, ......... for weight.)

(60, 68), (59, 50), (68, 79), (63, 68), (57,
68), (70, 65), (72, 75), (62, 79), (57, 48),
(60, 63), (62, 70), (71, 68), (67, 72), (64,
49), (67, 68), (69, 72), (62, 64), (63, 69),
(66,73),(59,45) 4

b)

12)

13)

14)

15)

@6ME 2 )QIAD GalM &1SOMBS TVIWID) af)TNH?

80} GalM aljalajjo 26Q® MlelWo elElend

MBS TVOWLD af)aD)? 3
OR

A, B o1 aiye®leud Lno(@no 80% Qljo
90% Qljo “eIgE@B3led VMo Al0@)MM).
a)Es103 BGO UTVOMOWY &)01a] O6NE Galdjo
alloyav @RElIVWSBU (aldhrSla{lenrmss
TLOWSDWIOS VOMBIMO )T 3

B0} CMISOWIOL HMEIB}HBIOS af)slNo
211Q10S 90500 101ee;MAUIGI aG® Wem
oM@ Hals)o.

(i) Nominal data (ii) Ordinal data

(iii) Discrete data (iv) Continuous data
1

20®Ad &TVEHR0] GLIONIT HOW]d: 1Bl
eimale @yEEIWY allajosyoavano Msaflelo
$0);INDOG @YUV BNV d)0la] alClwe)
Mm@ calenEl 80) GalosyQIRll MWON0ES)

. 4

a) 80) GOIleel 60 ®)SI®:3)0S 20060)
S0 OmaIMm @YalyOnlalSle W1G3
M3 1DI@NO9)AN}. 40-50 af)an oVl
voomaom erayoml (Percentage

frequency) 15 @Rem. agElod @GOG

VLGN ERHULOT] ag)(®?
(i) 6 (i) 9 (@i) 12 (@v) 15 1
b) 20 ailzyodmdlegies pwoano (snemilod)
8000 (@leelowoadlcd) marlalesyam).
80) OamIcaclcw] a@RaIyomlalSls
M3z .

(aV)21m: ®AVISBB@ WILO(DBo DWW
@Yo BIQANAETD. DWEAMID 55- 60,
ag)anlssBOmW)o BoOOMITY
40~ 50, 50 ~ 60 aAVITBOIMWY0 ZHOAV
A0l A8 aiCo e aN@I6I))

(60, 68), (59, 50), (68, 79), (63, 68), (57,
68), (70, 65), (72, 75), (62, 79), (57, 48),
(60, 63), (62, 70), (71, 68), (67, 72), (64,
49), (67, 68), (69, 72), (62, 64), (63, 69),
(66,73),(39,45) 4



16)

a) Which among the following is an
example of non probability
sampling?

(i) Cluster sampling
(i) Multistage sampling
(iii) Stratified sampling
(iv) Quota sampling ¢}

b) "Sampling is more reliable than
Census." Justify. 3

Answer any one question from 17 and 18.

17)

18)

In a class test 30% failed in English, 20%
failed in Statistics and 10% failed in both
the subejcts. A student is selected at
random, what is the probability that he/
she

i) failed in at least one of the subjects

ii) failed in English if he/she already
failed in Statistics.

€
OR

In a school there are 40 girls and 20 boys
in the Science Class and 30 girls and 30
boys in the Humanities class. A student
is selected at random. Ifit is a girl, what
is the probability that it is a Humanities
student.

€

16)

a) 2)AI0S ©H0S;EOMClee)M®Ied Non
Probability samplling m)88 ©322006mMo
ARB@ ?

(i) Cluster sampling
(i) Multistage sampling
(iii) Stratified sampling
(iv) Quota sampling (1)

b) “avomigleas ecvadaumilemesog)o aflvol
aumleaoem”. MM (alMI®mOAUMDT

)

UL EH D1 B .

(17, 18 ¢210a3)63B 103 BoCINOMIN Ao DOMO

DY) D)

17)

18)

B0} ROTV old UG 30% ®)5ldus Doyl
om0, 20% Gald qROGIaYlsavlmyo 10% Gald
2 allaHOEBUWED 0 o0 RWA|SIAN). B0}
®)510W IBLURIlHAIW] 6D SOV ED
@RI/ @RAIUd

i) 80} alaomlomesle)e alEIRWe.|SO
M88 TMVOW DI

ii) quoglaule: aula)  aleoRWee|SWIB06EM
10 DoPlaUlM alE0RWO|SIM BB
TLOWLID )oY ¢

@)
OR

80) MWd glael MM Goavlad 40
BaleMdr)Sld8)o 20 @RYMB:) SIS0, a0L1M0
@11l goavled 30 @aledrygldgy0 30
@R SlhS)o DENE. B3O HSIOW WOBLall
SRV HDORETHS)OM). @D BaleMd)Slwo
OeM®BIE a0[@0MIQIT Gomiloel @&)glwo
HOMBB TLOWID af)®?

@)



ANSWER KEY (SET 2)

Qn. No. Answer key/view points Score | Total
1 a {iii)Actuarial Science 1
b Ministry has two wings
- statistics Y
- Programme implementation %
- CSO %
- NSSO %
- SDRD, FOD,CPD, DPD, etc 3
Or any other four points(1/2 score for each point)
2a {i) Commerce ¥
(i) Humanities ¥
{ii) Science ¥
{iii) Commerce ¥
b {i) Cumulative frequency 1
Ogive 2
{ii) 45 or 46 1 6
3a {(iv) 11 1
b Harmonic mean 1
_ 2 _50X20X2 _
HIVI—% T 50420 =28.57 .
c Ql=49 1
Q2 =50 1
Q3=51 1 5
4a x+(x+1) _ 4195 %x=10 1
2
b Fo = 80 f= 86 f,= 37 1
— g fizhe
Mode = |+ TS Xc
_ 86—80 1
= 1000+ ——"—X 50 .
= 1000 +5.4545
= 1005.4545 1 6
5a H-L=28--2=30 1
b CV(A)=CV (B) 1
%100 = Zx100 1
X1 X2
8 9 1 4
— X = —X
0 100 % 100
X, =250=45
6 8 1 1
7 class f <cf Mid x Ix- Mel
20-40 3 3 30 45.3125
40-60 5 8 50 25.3125
60-80 32 40 70 5.3125




80-100 15 55 90 14.6875 2
100-120 10 65 110 34.6875
N_ 1
Me = |+%m) XcC
6_5_8)
=60+%X20 = 75.3125 %
>flx-Mel = 999.6875 1
_ Eflx—Mel _999.6875 %
MD = N T 65 :
= 15.3798
OR
8 X y Xy
10 12 120
11 11 121
13 10 130
9 14 126
12 13 156
7 8 56
62 68 709 2
Cov(xy)=22 . ZX ¥ !
’ 1
00 52 68 n n n
"6 6 6
=118.1667—-117.1111 %
=1.0556 Ve
9a Negatively skewed 1
X (x-x) (x ) x-x)’
3 -6 36 216
4 -5 25 -125
7 -2 4 8
9 0 0 0
10 1 1 1
11 2 4 8
12 3 9 27
16 7 49 343
72 0 128 30
1
__E _
X =3 =9
() - 222
- n
128
=5 =16 1
— Z(x—x)3 _30
H3 oy P 3.75 1
. _ 3% _3.75% __ 14.0625 _
(ip1= W2F =167 = 4096 = .003433 1




10a {i) landllarecorrect
b P(A U B)=P(A)+ P(B)— P(A N B)
0.7 =P{(A)+P{A)-0.1
2P{A)=0.8
P{A)=04
11 Box |— 3 red, 4 blue
Box Il -5 red, 2 blue
a) P(both red)=P(red) x P{red)
=3,5_15 1
7777 49
b} P{one red and one blue)= P{red and blue or Blue and
red) 1
= P(red) x P(blue) +P(blue) x P(red)
3.2,4_5
=ZX7t7 X7 1
56,20 _26
49 49 49
OR
12 P(A)=0.8 P(B)=0.9 P(A)=0.2P(B)=0.1
P{contradiction) = P(A and B°or A“and B) 1
=P{A}x P(B®)} +p{A° }x P(B) 1
=0.8x0.1+0.2x0.9 ¥
=0.08+0.18=0.26 ¥
13 {iii) discrete data 1
14 Preparation of questionnaire
{simplicity, integrity, logical order etc) 4
15a {iiy9
b height 1
weight 40-50 50-60 60-70 70-80 Total
55-60 2 1 1 4
60-65 1 5 2 8
65-70 1 4 5
70-75 2 1 3
Total 3 1 9 7 20 4
With tally marks
16 a {iv) quota sampling 1
b 1 score for each point 3
17 i}P(E)=0.3.P(5)=0.2 P(EandS)=0.1 ¥
P(EorS)=P(E} +P(S) -P{EandS) 1
=03+02-01=04 ¥
. P(Eand S
i) P(E/S) = ET 1
=%= A 1




OR

18 P(science) =% P{humanities)= % :
P(girl/science):% = % Zz
H s _30 _1
P{girl/humanities)= = = -
P(H).P(G/H) )

P{humanities / girl)= sorota myrassSers)

11
=22
T1,17
2'2°2'3

1 1
=rir=4=2
A
4-+3 12




